© Name \/\ '€/U\ Fall Midterm Review Packet

Directioms: Fill in the key term.

DA_M \ d pownt is a point that divides a segment into two congruent segments.

2) An O\V\%\Q; b\SQd’UV is a ray that divides an angle into two congruent angles.

3) A biseAdy is a line, ray, or segment that divides a segment into two congruent segments.
4) (0 em are two angles whose measure have a sum of 90°.

5) SMK )Q\M Nex ]j!&]ﬁ ﬁ[)%\f S are two angles whose measures have a sum of 180°.

6) A_linear p(l\ v is a pair of adjacent angles whose non-common sides are opposite rays.

7) C‘)ﬂ g‘( uent (Lﬂ%\( S are angles that have the same measure.

8) t " are segments that have the same measure.

9) Pox P?‘hdi oy \QV \\ NES are lines that intersect at 90° angles.

10) A ‘ )¢ Qq Y ]m !M\,QV h jedvﬁs a line that is perpendicular to a segment at the segment’s midpoint.

11) A Yi th* (KY\%\'Q, is an angle that measures 90°.

12) ment N8 (f8¢es that if B is between A and C, then AB + BC = AC.

13) A na\ ¢ Addition V)St&algstﬁat if S is in the interior of ZPQR, then m£PQS + m£SQR = mzPQR.
14) \{Q)/ heal }\M\PS TheOren states vertical angles are congruent.

15) Rl{]h‘f L's £ Thm states all right angles are congruent.

16) CO(\QVUCV‘* SWPP'WQWK -n‘n'étates if two angles are supplementary to the same angle, then the

two angles are congruent.

Directions: Complete the proof.

17) Given: £1 and £2 are complementary.

%’ra\(_% and 4.3 are complemen 2
= bnts ﬁmw’ns\ : .
1l %,L2 are cOMpPenmnad 1) Guer, R

2) et ime2 =90° L)def (_omp L's

Li=L? B ver. L's ¥ thm
Bymel =mL3 wdef z L's

5) mL3+mLz =90° 5) SUbSt. pYup.

L) LZ ¢ L3 ore (omp. [b)det OMp L's




Directions: Complete the proof.

18) Given: £1 and £3 are supplementary.
Prove £1= ¢4
]

132 374

\) Given
2) def. lin pr

D Llin. Pr. T
1) £ Supp Thim

VLl ged e supp.
1)(‘)%.0‘\. form \in pr.
3) 3 & LH ae SUpp-
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Directions: Name each set of angles using -the figure!

19) Corresponding Angles

L, L3,LS
LR, LU L2,L
20) Alternate Interior Angles 21) Vertical Angles
L, L5 L L2 LLy
LS, L
22) Supplementary Angles 23) Same Side Interior Angles 24) Alternate Exterior Angles
(N, LG L2,L5 L3, L
LZ,LD ek, LA, L\,L%

Directions: Given p || g, m£3 = 45°, and m£6 = 110°, find the measures of each angle.

25) mel = 199° 26) ms2 = 10’ " / /
10N\ 11 9/8 7
2/6

27) ms4 = Hsb 28) mz4 = L‘rjo ) 12\
29ymes= 159° 30) me7=_ 10"

0 q
31y meg= 10° 32) meo=_ 0

p
[ 0
33) meto=__ 0D 34y meti= WD 35) me12=_W9




Directions: Solve for x.

36) \ 37) /
oo 15" N o 1414 ‘

- llx—k > < / L
b \ /12x+l7

%= =9

4

Directions: Determine whether lines m and n must be parallel from the given information. Justify your
answer.

38) 22 =14 39) £1= 47 m 1f;
Yes) Conv . Corv No, st blo vert L's 77 >
L's Ppst ave % this dossnot  p a/s

MOaN 'we have WL {ines ys >

40) me7 =92° & ms6 = 8§°
e<) conv- same Side
int L'S thm

Directions: Determine whether the following statements may be concluded from the given figure.
41) Given: £2 = £3
Statement: a || b No

42) Given:a ll b
Statement: a 1 ¢ NO

43) Given:ta Lcandb L ¢
Statement: a || b ﬂe S

44) Given: £2 and 1 are right angles \l es
Statement: a ll b

45) Given: £2 and £1 are supplementary
Statement: a Il b \’QQ



Directions: Determine if the following triangles are congruent by SSS, SAS, ASA, AAS, or HL. Then
write a triangle congruence statement.

D
47) 48) E B

) f\
A € + F
\f C D
SASAECBE SDBC

B
ARS |, AABCEADFC HL { AABCEAFDE

Directions: Determine the missing information needed to prove the triangles congruent by the given

theorem or postulate.

49) AAS 50) SAS 51) ASA
:- (:' ! ; X g
E é
U; LRASY, DSQ LNV =L XN K-
VO £ EC

Directions: Complete each proof.

52) Given: B is the midpoint of DC; AB L C

Prove: 2DAB = £CAB
émteme,msﬁ_’ \QwSOns
‘)% \S mo\pﬁ Pl 0 6“/‘6{/\ o 1 .
2) B 2B 2)def mdpt
%) A L.CD 3) Given
H)LDBAZ) (BA (e cght L'S 4) L \ines Pm.,\,}t\ vgt L'
5) L0BA ZLORA s) Right L's M
0)A T AG b) Ref. Prop.
N
1) ADBDAZE ACOA ) SAS =
) CPCTC.
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Directions: Find the measure of the angle.

53) m£A 54) meCBD

Directions: Find the measure of each indicated angle.

55) meTUY 56) msD
s Uu__ Y.
70° ? - c
46° -] +8x
18x+$
8
w
T
o
meTUY =120 LD =3\’
Directions: Solve.
57) Given: AABC = AFED; AC =4x; FD = 8x-20 58) Given: AABC = AFED; mzA = 5x + 20,
Find: FD msB = 12x; msD=—x + 32
Find: m4£E

¥O=20 o
F mLE =40



Directions: Solve.

59) What is x? Whatis AB?

A 8 c

-1+x

61) In an isosceles triangle, the base angles are 2 times
the measure of the vertex angle. What is the
measure of each angle in this triangle?

20° 12°,72°

60) What is mzA?

A &
3x-6 130°

8x+4

wmLA=20°

62) Given: The triangles are congruent.

Are these triangles also equilateral? Justify.

20 1]

LY
s Z Y

Yes; avery sidt measires
70 unyg



Transformations Review Midterm Addendum % Geometry

Peections: Using the rule provided, describe the transformation that has occurred.

\&/

1) (x, y) > (v, x) 2) (x,y) >y, —x) 3) (% y) > (x, y-3) 4) (x, ¥} > {(-x, )
reflet over 770°COW frons\atve reflecx over
Y= % YO O O down 3 units Y-S

Directions: Write the rule to represent the transformation.

5) Rotate 27(2° CW about the origin 6) Translate 2 units left and 3 units down
()2 "6y, %) (> (%-2,4-2)

7) Reflect overy =—x 8) Reflect over the y-axis

(X:,kj) %i(-%fx> (y‘l\‘5>‘?(—xly>

(60

Directions: Graph the transformation using the given information.

9) (x,y) > (x,-y) 10) Rotate 270° CW about (-2, 1) 11) Reflect overy =-1
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Directions: Solve each problem.

12) If Z(3, —4), what is Z”after it has been reflected over the y-axis and then moved 5 units to the right.
Z'u ( 2' -L\)
13) IfR'(0, 5), what is R if the following rule was used to produce the image: (x, y) - (-v, —x)?
R(-3,0)
14) If J(3, 1) is reflected over y = —x, which other transformation would have the same coordinate as J'?

M(1, 3) is transformed using the rule (x, y) &> (~x, -y).

B) H(-1, -3) is reflected over the y-axis.

C) W(-1, 3) is rotated 270° CCW about the origin.

D) E(4,-5) is translated 3 units left and 8 units up.



